2A:

sa3d2Zd
al

M MENEEE Y AFDK(SALS/N

©e: NHMENS & H70|s 8435 (St @ Q)

SN BB S0(3) - MRAY - BES ofl k24 gy Hmz2
PARE R g Ro R 1,443,914 1,537,741 293,827
2 53,000 53,000 0
< 1,390,914 1,484,741 293,827
MEIREA 2 AN (BHES/NA) 633,867 636,867 A3,000
2 53,000 53,000 0
= 580,867 583,867 23,000
ANSHMHNE E H730|s #45 330,767 333,767 A3,000
2 53,000 53,000 0
== 277,767 280,767 23,000
osd Hgsts 29 63,800 66,800 23,000
101 14| 18,000 20,000 £2,000
M IIZHZZ2NEES 18,000 20,000 22,000
OU=A JIZHNZE2EXN 23 18,000 20,000 A2,000
201 YEHE | 9,000 10,000 21,000
03 & A2 0 1,000 21,000
OWMAR g2 0 1,000 21,000
HHPAAH(NASAARZR)(OIEH/IIE) 810,047 900,874 £90,827
el 2| 757,491 848,318 A90,827
SR dd X& 642,854 713,065 270,211
101 QI 24 H| 617,294 687,505 270,211
01 2% 617,294 687,505 270,211
OPIE== 516,833 540,960 A24,127
ogerA 420,941 426,178 25,237
-GA 144,000 149,237 25,237
OFSI=tod=y 14,033 32,923 218,890
o< 45,527 76,412 230,885
OEe 6,720 8,640 21,920
-22IE 1,920 3,840 21,920
OXHEHIEE=sE 406 1,195 AT89
-NSstn 406 1,195 AT89
OFZ2+EoHt= 8,280 9,000 AT20
25401 & 1,560 0 1,560
—20~254 0] gt 1,320 2,640 21,320
-15~20& 0] 8¢ 960 1,920 2960
Oolis:A+E 2,717 10,028 27,251
OAztelZ2f+2 13,904 34,109 £20,205
OZFEFRIHI 24,259 39,458 215,199
OZEERIHI 24,259 39,458 215,199
Z2x oAH XY 114,637 135,253 £20,616
101 Q1A H] 114,637 135,253 220,616
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A NHSBAREE
Y HAEPIAHH(NASIATRIR)(IIEHIIE)
ctel: elE 2yl (&9 &)
5A Z%ﬂ- e21(8A) - kll—‘?'?Af%i_ - Y= Oliﬁgﬂ I3 Hlm’éét '
B RIAA22X 2+ 114,637 135,255-] A20,616‘
OHALDISH 114,637 135,253 220,616
oJ1=3 61,259 61,965 AT06
OoF24€ 3,558 4,131 A5T3
o3 15,315 15,492 A177
Oddgd2R>g 6,102 12,203 26,101
OdxRSHEII=E 802 4,068 3,266
OYE I 5,105 5,164 A59
OAZe2R+g 4,882 12,203 A7,321
O)=EsE == 8,374 10,787 A2,413
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